
CINCINNATI REDS  //  KIDS ACTIVITY

JERSEY MATH

10 x 2 + 1 = 13 - 8 = 32 + 26 = 63 - 13 =

14 + 5 = 2 + 3 + 2 = 4 x 11 = 3 x 5 =

15 - 4 = 4 x 4 = 23 + 18 = 6 x 4  =

32 - 6 = 3 x 12 + 18 = 9 x 3 = 44 - 16  =

ANSWERS: Michael Lorenzen (#21), Johnny Bench (#5), Luis Castillo (#58), Amir Garrett (#50), Joey Votto (#19), Eugenio Suárez (#7),  
Aristides Aquino (#44), Nick Senzel (#15), Barry Larkin (#11), Tucker Barnhart (#16), Joe Nuxhall (#41), Tony Perez (#24),  
Raisel Iglesias (#26), Sonny Gray (#54), Trevor Bauer (#27), Anthony DeSclafani (#28)


